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1 Explain the operation of double ended clipping circuit with neat circuit diagram and waveforms 10 Co1l L2
2 Derive the expression for stability factors S(Ico) and S(Vge) for voltage divider biasing circuit. 10 CcO2 L3
3 With the help of r. equivalent model derive an equation for input impedance, output impedance, 10 co2 L3
voltage gain and current gain for emitter follower configuration
4 Design a voltage divider bias circuit using the given parameters: I, = ImA, S(Ico) = 20, p = 100, 10 co2 L6
Ve =1V, Vce =6V and V¢c = 12V. Draw its circuit diagram
5 Explain hybrid equivalent model for transistor. Develop h-parameter model for CE, CC and CB 10 cOo2 L2
configurations.
6 For the transistor connected in CE configuration, determine Ay, A, Z; and Z, using complete 10 cOo2 L3
hybrid equivalent model. Ry = Rs = 1KQ, hye = 1KQ, hee =2 x 104, hg = 100 and hee = 20pA/V
AEC IAT 1 Solution
1. Double ended clipper
« Two parallel clippers can be combined to form a
double-ended clipper:
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2. Stability factor
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3. Emitter follower re model.
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Voltage Gain Av=1

Current Gain
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5.

H-parameter model

Parameters are defined in general terms of any operating conditions.
Hybrid means mixed. Here we have mixed parameters.

In hybrid model, the transistor is modelled based on what is happening at its terminals without
regard for the physical process taking place inside the transistor.



CE Configuration
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CB Configuration
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